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Note for Questions 21 to 25:

21.

23.

24.

The following Pie-chart gives the percentages of various items manufactured by an
electronic company in a particular year. Based on this diagram, answer the questions
from 21 to 25.
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Major appliances Sgrs &9s6emswes @ 40% £3
Computers SoYrgtatd - 25% ‘;::% % m
Televisions Q0essy S
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Ifthe company manufactured 3400 televisions and the manufacturing cost of a DVD player
1s ¥3400, then money invested (in Lakhs of Rupees) for DVD players by the company is
& S0 3400 30w (G GEOR) 0% BALHBOS, &.5 EIE 30560 &g &5 & 3400 eond, &
So2d) AIA SOSO°E3 Deped s oy (oge Srawes’) _

(1) 60 (2) 62 (3) 64 (4) 68

If the company produced 12000 computers in that year, how many televisions it has
manufactured during that year.

& S0 & JoBET0S" 12000 503785 BorErDY, & Soses’ I QDI BATED0H?
(1) 8160 (2) 7260 (3) 6360 (4) 5460

If 50% of the miscellaneous amount is ¥ 180 lakhs, then the total investment in that year
(in crores of rupees) is

JBCB0CE DD s’ 50% 180 ofe Errones wond, & Hostydod® Bhi o aeagaxi (5%
Erraed’)

(1) 35 (2) 40 (3) 45 (4) 48
If 10% of the major appliances cost is towards manufacturing the accessories and if the

total investment in that year is Rs. 32 crores, the cost of producing the accessories (in
crores of rupees) is

B e80eRno $O5° 10% Dod S8t BardS pindh, e Hod Boogo bepad &>, 32
Se eonspeD, eo $Aisooty Baxrds oo Ao, (5% o )
(1) 2.56 (2) 1.28 (3) 0.64 (4) 0.32
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